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General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to attempt both the sections.

(ii) All questions are compulsory. .

(i) ~ There is no choice in any of the questions.

(iv) All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in one
" word or in one sentence. 2

(vi)  Question numbers 4 to 6 in Section-A are two marks questions. THese are to be answered in

|

about 30 words each.

(vii)  Question numbers 7 to 18 in Section-A are three marks questions. These are to be answered in
about 50 words each.

(vii) Question numbers 19 to 24 in Section-A are five marks questions. These are to be answered in
about 70 words each.

(ix) Question numbers 25 to 33 in Section-B are multiple choice questions based on practical skills.
Each question is a one mark question. You are to select one most appropriate response out of
the four provided to you.

() Question numbers 34 to 36 in Section-B are questions based on practical skills. Each question
is a two mark question.
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Name the simplest ketone.

2 TSRty Sital & sifyeive « et S arell s iR &1 yER fafa

Name the type of reproduction mostly seen in unicellular organisms.

3 T I=IET RIe T8 ?

What is Narmada Bachao Andolan ?

4 - WE T H AW W F Ow AMYm ¥ W W™ wEe W ¥ fan
R - fag 3R e - fag =1 9 fafed )
What is meant by least distance of distinct vision ? Give the value of near point and far point
for a normal human eye.

5 fre SiTel @ w g
(@) o we § el ¥ v Y e & Pt @)
(b)  AYFS Ul H e gged S
What damage is caused to forests by the following :

(a) Building rest houses for tourists in national parks
(b)  Grazing domestic animals in national parks

6 frer = § | 37 awget &1 g S st sufire s €
HiaEe B, T.V, $i-18, IR $e, aft &1 goen, 99 359 a9 99|
From the following list, select the items which constitute electronic
waste : Mobile phone, TV, key board, pressure cooker, key ring
pen-drive and table.

. ; e 3 '
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TR affrdteto sfufera =i e s B7 39 st #5174 yfgs @2
Give the balanced equation of the reaction in which alcohol is converted to carboxylic acid.
Why is it called oxidation reaction ? What is the role of oxidizing agepts in it ?

8 7 Tl & M fofae s sReg- 3 2 o9 8 | .
g ¥ A F R A R A W 37H 4REg ag AR ] 9 R yer aftafda g

Name three elements which have two electrons in their outermost shell. How will their
metallic character and atomic size change on going up in the group.

g o= fefam sfufsransti &1 qu Hifs
: s
(i) CHaCOOH+Na-
(iii)  CH3CHpOH T2 L0,

Complete the following reaction :
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Describe the basic character of the oxides of third period elements across the period from left
to right.

& goiy fafier feet wafe & amr aam 57 9 81 O e 27 g §HEET |
A rare variation becomes a common characteristic in a population. Explain by giving an
example.

o1 <1 e | o i H da ¥

() T T HCEA GHAEA ST YU % faew & Suge S v

(b)  qUid : fammfea yor i s=n ffa yHR 9= S R ?

The development of the embryo takes place inside the mother’s body in the uterus.

(@  Explain the structure of uterus which makes it useful for the development of the

embryo.
(b)  How is the fully developed embryo or the child is born ?

o g § dew 3 1014 O wra ey, e @ p2 @i F 787 9 A e ot 4 qun 227 diei A

gifer i &

(a) F,¥d 3 wra et sum & o 2 : ﬁ
(b) ¥E o 319 fFw Fram & et o €7

(© 3 fram = Qo i e e g2

- In an experiment, Mendel obtained 1014 plants, out of which 787 were having round seeds
and 227 had wrinkled seeds in F2 generation : :

()  What was the approximate ratio obtained in F2 generation ?
(b)  Under which law do you find this ratio ?
(c) Why is this law so called ?

fafim <ial gro o1 T 9= Ay 1 o =3 R gnim T R 39 e @ Sfte awn 39 g) wEm
1 73 5 fafy & 9 fafaa
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Identify from the diagram -the type of reproduction used and the organism showing it.

() & IR W VFR F 37 ¥4 et §2
(a) What function is performed by human arms, forelimbs of dog and forelimbs of whales
?

(b) Which type of organs are these ?
() Why do we call them so ?

Give the factors on which the colour of scattered white light depends. Give any two examples
where we observe scattering of light.

%m%amwmm@wmﬁmmﬁmmwmm.
fas =t -1 w3 T I BT T 9 F F1 fafyr ferfign |

Design an activity using concave mirror to prove that it is converging in nature. Also state a
method to find its rough focal length.

W%W,Wﬁ%—%ﬁﬁmﬁ%ﬁﬁwuw%w
ﬁwwﬁ@%ﬁaﬁ@:mﬁ%ﬁﬁwﬁﬁtmw—m
ﬁﬁnﬁWﬂlﬂaﬁmﬁmﬁmﬁﬁq(mﬁﬁ)ﬁmﬁﬁﬁﬁmWW
a@ﬁu%ﬁaﬁﬁméﬁaw#mwmﬁ@ﬁmmﬁ
I8 fFy yoR wEymeia gonel 2
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(@) faemerm =1 Se-Siavnen Y YR THqueig Jue off?

During the holidays, children were told to design an aquarium. Raj said that we
would take a bottle full of water and put fishes in it and our aquarium would be
ready. Rita said that all the fishes would die after a few days without an aerator and
‘plants in the bottle. She took them to her school and showed them the huge aquarium
and explained how it was self sustaining system.

(a) Why can we not make an aquarium in a bottle ?

(b) Whatis an aerator ?

()  Whatis its function ?

(d) How was the aquarium in the school a self sustaining system ?

19 i goftdl #1 wfiwar 1 am fofag
@) e e
(i) QAT A TIAHIEE I
% Gaiteda ¥ gratya sfufra &1 gqfea temaf s fafaa)
usHe &1 U svan fafEd ik = o o fofae ) 3 s SvEm & o sugea s #)

Name the process of the following conversions :
(i) Ethanol to ethene
(i)  Ethanol to ethanoic acid .
Write a balanced chemical equation for the reaction involved for each conversion.
Write two uses of ethanol and state the property which makes it suitable for this purpose.

20 (a) &HFEH T € fF g 0 ge ol SO :6 €2
(b)  fawmgma @1 aftum fafea )
()  snfa3gva =1 wiwar forg wam 2t @ faeam @ fafEw)
(@)  Why do we say that homozygous plants produce pure progeny ?
(b)  Define heterozygous.
() Explain how the process of speciation takes place.

21 R 1 a6l ® e
(a) I H SRREA Hifad g €
(b)) I ¥ iR T GE 92d €
() 3% Y & wwifed dare |
() R W eRE e | F S ¥
(e)  FEANEEH HI 9o F @idl § gHel S 2 |

Explain what happens when :
(a) Testosterone is released in males.
(b) Pollen grain falls on the stigma of the flower.
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(c)
(d)
(e)

2 (@)

23 ()

(a)
(b)
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Egg fuses with sperm cell.
Planaria is cut into many pieces.
Buds are formed on the notches of the Bryophyllum leaf.

ﬁﬁ%mmm

(i) TR fenfzam ¢ v 8 €

(ii) e ST T et & el wdia e B

(iii) @ﬁ#ﬁﬁ%mmmmwﬁmmil

e & e fafae
(i) gfe Ted (i) Wi
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Give reason for the following :

(i)  stars appeartobe twinkling

(i)  clear sky appears to be blue from earth
(iii)  red colouris selected for danger signals
Write the functions of the following :

(i) retina (i)  iris
(iii)y  eyelens (iv)  ciliary muscles
Frcen aTqadies 1 aRe fafE

@ﬁqwmmﬁmaﬁﬁ?ﬂaﬁfﬁmﬂaﬁ,cﬁmmmﬁﬁm
¥ faror ativE = T T mmﬁmmﬁmwﬁf%wm:

g @
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(i) ?ﬂﬁmwﬁfA,B,cﬁﬁmaﬁwwﬂnmmm%?
(ii) gﬁmwﬁﬁ\ﬁ%aﬁmm%nmmm? .
(iii) AﬁBﬁmmwmmﬂﬁmwawaﬁmﬁﬁq?'
(iv) Wchéﬁqﬂamﬁmlﬁmmmm?
39 I FRO Hied Qe |

Define absolute refractive index.
The path of a light ray from three different media A, B and C for a given angle of
incidence is shown below. Study the diagrams and answer the following questions.

'

W

(i) ‘Which of the three media A, B or C has ma:a;zxum optical density ?
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(i)  Through which of the three media, will the speed of light be maximum ?
(iii)  Will the light travelling from A to B bend towards or away from the normal ?
(iv)  Will the refractive index of B relative to C be more than or less than ?

2 U e G F WA ¥ U wHeE <90 W AR & wad & fram fafee qun ere w5
@ T ST F A9 TUEEH F01 T Sifera Wiwg | AT SN H7 3250 %, @RS H
fepern @ ?

~ With the help of a ray diagram, state and explain the laws of reflection of light at a plane
mirror. Mark the angle of incidence and reflection clearly on the diagram. If the angle of

incidence is 32.5° what will be the angle of
reflection ?

Y-&/ SECTION - B

25 e S A Yo o S # 1

(a) focms %1 7@ ' (b)  SHFHIHRE I TE
()  ieol FHRF il & (d)  ¥iderh S TWE
The use of alcohol in preparation of soap is :
(a) as solvent (b) as oxidising agent
(0 as hydrolysing agent (d)  ascoolant
26 e sfubEa A ad dol @t s e sifafm s S R R E 1
(a) TH F&d A (b) UH god &RF
() TF goa 7 (d) & Yol &RF
In a saponification reaction, fats and oils are treated with :
(a) A strong acid - (b) A weak base !
(c) A weak acid (d) A strong base
27 fread R fr o ¥ e 83 A 9O FeR TR TR E 1
@) Sferm ege FHEe (b)  WeferEm wRES : '
()  Gifeaw Heme (d) Hifemm aEsEAE
Name of the salt from the following which makes the water hard is :
(a)  calcium hydrogen carbonate (b) potassium chloride
(c) sodium carbonate (d) sodium bicarbonate

28 Mﬁe'ﬁmﬂ@ﬁﬂwmﬁﬁ%sﬁma@mﬂwwwm%lﬁﬂﬁmﬁ 1
& gy faRo =@ :
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A ray of light is incident on a lens making an angle of 30° with the principal axis. After
refraction through the lens the ray would travel.

: Principal Axis
A O B

(a) along OB

(b) Passes undeviated

(c) at 30° to the direction OB
(d)  at120° to the direction OA

29 F o 3 rgae 90 F TR W@ e W i, R g e @ den wiafEa wa e feose
o2 =) w21 fogn 9o 20 @ ¥ w9 fewm ¥ 2@ w1 vaE R 9 Sk s
(@)  TUW W g 1 He whdfe )
(b) U F RHH W YT & e yiafET |
() T&I e & FRO HIS wiafsis T | o
(d) W @i AR W TR e yfafse |
A student obtained a sharp image of a distant tree on the screen place in front of the concave
mirror. He then removed the screen and tried to look through the mirror in the direction of
the tree. He would observe :
(@) an erect image of the tree on the mirror.
(b) an inverted image of the tree at the focus of the mirror.

. (¢) no image as there is no screen.
(d)  blurred image on the wall of the laboratory.

30 fre oTgAER B F UfEE ¥ T H gE UM F R w1 9 sifed w0 % g
rorraes = fearfiy s Fror qen el o A 3 o w e et F g e R ?
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In an experiment on tracing the path of a ray of light passing through a rectangular glass slab, the

setting of the protractor for measuring the angle of incidence and the angle of emergence is
respectively shown in diagram :

i <
J

S |

@ ® ; X\ \R

© e
- (a) (A) and (C) (b) (A) and (D)
(c) (8) and (C) (d) (B) and (D)

31 ﬁaﬂimaﬁmaﬂﬁﬁﬂ%ﬁwﬁwﬁmmtm%ﬁm%%?ﬁf%l 1
= fearfir & araa Fro7 agn Fre o H < Wy @
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(d) e o SR fefa v 3 i frad s T R "

When a ray of light enters from air to the triangular glass prism then it emerges out of the
prism. In this situation the relation between the angle of incidence and the angle of
emergence is. ' :

(a)  angleof incidence is smaller than the angle of emergence.

(b)  angle of incidence is larger than the angle of emergence.

() angle of incidence is equal to the angle of emergence.

(d) thereis no fixed relation between angle of incidence and angle of emergence.

32+ fa e fas @ eEEA FI | : 1
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Study the diagrams given below carefully

TUBER GF PoraTo TUBER OF SwEET
. PoTATo

Both potato and sweet potato are underground vegetables. They are
(a) analogous structures

(b)  homologous structures 3
() anatomical structures
(d) histological structures
33 Ty fgsitsiost e & 9o § g § | ' | 1
(a) ST, SSTANR, Wi ? ;

(b)  Yoitg &, T s

()  Yoiig &, SR

(d) ST, HigT

A typical dicotyledon embryo consist of :
(a) Epicotyls, hypocotyls, plumule
(b) Embryonal axis, two cotyledons
(c) Embryonal axis, hypocotyls

(d)  Cotyledons, plumule

34 fordl TrEee § ol T 3 Sifean RN TEe ¥ T o oo W st AW 3 feat 2
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en carbonate in a test tube, what colour and

odour of the gas evolved would be observed by a

student ? Name the gas and how this gas can be tested ?

35 = o 9 s v g THifET e
s M
W) (1)
Label the following diagram correctly,
36

Kasim draws a ra
front of it, such that
front of the lens. Dr

y diagram for image formation by a convex

lens when an object is placed in

image is virtual, erect and magnified. Find tHe position of the object in

aw a ray diagram for image formation.

-0000000-
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